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Recall 51: E2 A permutation of objects- I ordered arrangement
-- of them.

There are 1.2.3...n = n! permutations.

# How manydifferentwords can be made by rearrangingI the letters of the word DOCTOR?

all permutations
- (*

=25.6 =360
2
*overcounting correction: ignoring the order of 20's)

r Same problem for word SUCCESS?-X
-

I

Fallspermutationanofe
*
ignoring the order of s's I

Exin how manyways
can Alisa invite isfrom her Ifriedas

invited non-invited

-tion1 ↓
↓

the invitation list-word
with3 letters and 4 letter:

Friend 1 23 75
67

Invited N -> N NY
NY

#of such words-i!35.
ignoring the orderofy's

and N'S

-



invitest2nd and
action2: d X

Always tosend invitations to3 friends)=4.6.5

Ignore the order of invitations ->

7.6.5 --

I
= ???! Ein=35.

· More generally. e.g. A friends e.g. u friends

Always tochoose a objectsfrom objects) =ins!
H

Ref A anation is a way
tochoose an unordered

subsetofa objectsfrom a setof a objects.

thenumber of
combinations equals

(2) =

=in!I
and is called the financial coefficientin choose in

"

-

· Ex Always to choose 3 friends from 4) =(33) =35.

-2-


